FETYY—HSOHASE
OFERDAZV VDT V/EREINNREEICDONT
NITHL SRR236E 1A & 0 LUF O THEIC DL TR O 2B L TL
£9. PIRERIIER2IFEIHETTY, EEzREINSHIL. ROICHEZL

TLES W, Iad, ZOFEKI, FHOHENLETY, BEREATIIEL I kit >
I —TFhE e L TIZE N,

TR HEAE DA B Bk oo R HF B Bk & #
FEEBSALTOF e L EEE~ERke 1EE | 11,250 (1EICDE)
eE7ooF>

(bR vTNTIHE) | 2 H B LS AR 4500/ (1[ENZDX)
INRRARRIKE D O F > 2 ALLE S %A 6,750 (1 [@EizDX) i -
O EERNHKZBO/Y—aBALELE B

REEDORERS (DV) THEMATRABVWTIN 2 RfEL> Y —NICHEEOMKELZREL L L. B
AR USRI DN P HIEFE DM ETVE T, —ATHMET, BRBICTHMRZE W,

[(HMaE%) Rt >y — %9200

Qﬂl% BINFRIELREBE v @ xusaroovr

> —d —A 1
@100m:E IHTV\]O)/J\?‘S 6 FAICKDRE LRk SN E Lz, BfEld. AFOEBDTY,
JIE 457, 5 # 5B 1 |JEfAL 5 F & ¥ JIE AL 6 # B T JlEfr| 6 4 . F

L | FRERMECEH) | 1479| 1 [#I] ARZEGHD | 1671] ! | Jof ((E) | 1571 G RAE) | g

> [thE B | 1573] 2 [AREREW | 1679] 2 [1he #m(F) | 1572] = |#BH  E D

3 B8 ECH) | 1579] 3 [&H BER(A) o] 1770 3 [&FE FAECH) [ 1574] 3 [ H(HD | 1670
@60m/\— K)LFE [ —

JIE AL 6 g8 7 |[EZbA 6 L
L |oe E|CF) | 1% 1 [ B (D | 1179

o MR —ECm | 1178] o | mHska G| 1271

3 R FHE) | 1275 3 | EEEAPB D G| 1372

@300mzE @ 1000mzE '

JIE 57 5 £ T JIE 57 6 L JIE 57 5 £ 585 7 JIE A7 6 £ 5 7
1|l fnCr) 371920 1 | R BB dR) [255673 1 [ mYeCR) [ 374671 1 | #ik BAECK) [374376
o | B |37 o |meakasz ) [3135] 2 [Wm B (375273 2 | B ) [470575
3 | KFY B |30 3 [WF EHECGED 32| 3 [ BRUE) [375574] 3 | E EAGD [471270
@400my L —

JIE L 5 £ B T JIEAE 5 g F JIE A 6 g B F JIE AL 6 g 7

1| Wb (F) [ 170574 | 1 | XY@ R G | 1 075] 1 [EEmsEale HEF) (170277 1| wE il a1 EO(F) (170673
o | EIl-BE R GA) [ 170970 | 2 | FEelA-gH-AHR) | 11176 2 [ HE- - REEA)|170677] 2 | miR-EH-®-2H () [170679
3 | BB - RE) [ 170972 ] 3 | #mE-&kE-Br@B)| 171375 3 [ -5 R (B)|171074] 3 | F-m=-Em-Z&GEA)[170972

O Y iEBk
JE i 5 &% B 7 [Efi] 5 % & ¥ W] 6 & % F ] 6 F & T

L | HERFHECE) |3m75] 1 | #UI ARZEGHD  |3mo09| 1 | P54 (F) [3m36| 1 [ ErE7/s7aZ (D |3ml4

2 [P BRIHAGHD |3m36| 2 | ARRERIFEUE) |2m9l| 2 | #&  KBIGID [3mi5| 2 [#5H  ERd (1)|3m12

3 |HF BERS(HD |3m22| 3 [fE BOA ) [2m81] 3 | SFHAE—BR(H) [3ml0] 3 |BIIEEHE(H)|3m08

QLY SHY

Jigi iz 5 F& B 7 ek 5 & & T AR 6 & 5B T BT 6 & & T

| | ZEE EBECHD [110cm| 1 | JkFr $H3ECHD [100cm| ! | B Se#s () [126cm| ! |F&% FEAEE (HD [120cnm

o | A BB BE| | oen L2 A #E5(F) | 95em]| 2 e RCF)[1lsen] 2 a5 BRSEE(AD |115em
(F)-& k) 3 [ MEBEECH [ 90cm| 3 | Fe {Eth(a) [105em| 3 [MFEHF ?(?) 115cm

Q@7 FR—ILIERIF

JIE oL 5 & B 1 |Eh| 5 & &£ T AR 6 & B T G ] 6 & & 1

Lt R G [46mbs0] L | B EECE) [29m60| L [ SFE EA G [54m93| L IR 3Ed D [33mb4

2 | #  SEAUR) [45m24] 2 | I PG [28m77| 2 | B BB [44m93| 2 [ RPE &R KD [32m57

3 | H BEGED [42m76] 3 | HE #w&ECKF) [28m62] 3 [BH  FE G [3vmi2] 3 [#EHAB S GED[3ImI2

E#E5%201.12 @)




